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Co3gaHue BekTopa C

1 x<-rnorm(3500) reHepMpPOBaHHON
2 qgnorm(x) BblGOPKOW 500 06bEKTOB
[MocTpoeHue rpaduka
2 hist(x) KBaHTUNEn
Histogram of x Normal Q-Q Plot
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Theoretical Quantiles

*nna hist() BaxkeH wwar, ang ggnorm() Ba>kHo n. [10aToMy faHHble OYHKLUUM TOMBbKO ANF BU3yanusaumu, He ang



2>
4 shapiro.test(x)

5 shapiro.test(rnorm(500))
A~

> §Hapir6.iest(x)
Shapiro-wilk normality test

data: x
W = 0.99687, p-value = 0.4516

> shapiro.test(rnorm(500))
Shapiro-wilk normality test

data: rnorm(500)
w = 0.9974, p-value = 0.6246



install.packages("nortest
Tibrary(nortest)

#p-Tevelp0.05 => HO
Tillie.test(x)
Tillie.test(rnorm(500))

- —

> 1Tillie.test(x)

Lilliefors (Kolmogorov-Smirnov) normality test

data: x

D = 0.026942, p-value = 0.5084

> 1i1lie.test(rnorm(500))

Lilliefors (Kolmogorov-Smirnov) normality test

data: rnorm(500)
D = 0.029619, p-value = 0.3559



11 pearson.test(x)
12 pggfson.tes;(rnorm(sop))

> pearson.test(x)
Pearson chi-square normality test

data: X
P=17.8, p-value = 0.7178

> pearson.test(rnorm{(500))
Pearson chi-square normality test

data: rnorm(500)
P = 22.6, p-value = 0.4246
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t<-runif (50, min =2, max—4)

shapiro. tesc{t) &
Tillie.- test (1:)

pearson. test(t)|

> t<-runif (50, min =2, max=4)
> shapiro.test(t)

Shapiro-wilk normality test

data: t
= 0.92557, p-value = 0.003771

> 1illie.test(t)
Lilliefors (Kolmogorov-Smirnov) normality test

data: t
= 0.13431, p-value = 0.02463

> pearson.test(t)
pearson chi-square normality test

data: t
= 14, p-value = 0.05118



Jlpyrue TecThl

e ad.test() — Tect ArgepcoHa-/lapiunra
e cvm.test() — Kpamepa dhon Muzeca
* sf.test() — rect [lanupo-Ppancus



Jlureparypa

https://star.inp.nsk.su/~baldin/DataAnalysis/R/R-05-2var.pdf

https://r-analytics.blogspot.com/2012/06/blog-post 14.html




